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I B34 [B26 5 43 60%]:
(1) Find the largest domain of the function f(x)=

3-2x 3 2 2 3
(@A-=— (b)-= 0 2 - (H=
473 (a) > (b) 3 ©0 (@2 () 3 ® >
(2) The range of the function f(x) = v20 + 8x — x? is a closed interval [a, b], please find its length b-a.
@I )2 (@©3 @4 (@5 @©6

(3) Find the value of the 11m| — | (@1 (b)-2 (c)—;— (d)-4 (e)-1 (H4

x—»2"

2
(4) Find the value of the lim ik

X 2x —1
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(5) If f(x)= find f/(-1). @8 ()5 ()10 ()4 ()20 (H9

2

(x + 2)2

(6) Find the derivative of f(x) = x? cosx. (@)2xcosx (b)2xcosx—x’sinx (c)—2xsinx
(d) 2xcosx+x’sinx (e)2xsinx (f)3x> cos(x3 )

(7) If f(x)=cos’(2x) > find f'(%). (a)3 (b)@ ©1 @1 (&-+3 (f)—g

(8) Lety = f(x).If x° +xy==6and f(3)=1"find f'(3). (@0 (b)l (c)2 (d)—% (e)-4 (f)%
(9) How many points of inflection does f(x) = x’e™ have? (@0 (b)1 ()2 (d)3 (e)4 (D5
: 0 1 1 3 5 5
(10) Find the value of the I_2|x+1|dx. (a)E (b)z (o)1 (d)E (e)z (DE
2. 3 HA [B410 5 > 43t 40%] .
(1) Find the value of the I ! !
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(2) The dye dilution technique is used to measure cardiac output with 6 mg of dye. The dye concentrations,

in mg/L, are modeled by C(¢) = —St(15 - t) 0 <t <15, where tis measured in seconds. Please find the

cardiac output.

(3) Let f(x,y,z)=xy*z+1. Ifx=l,pleasefind (x,x?%,—x)

(4) Evaluate the iterated integral _[ 01 I jx J‘;; 2 zdzdydx




